Mathenmatics Specialist Units 3 & 4 Revision Serfes 15 Differentiation

15 Differentiation

Calculator Free

1. 112 marks: 3, 3,3, 3]

o
Find -&f for each of the following. You do not need to simplify your answer.

@) y=5'

(b) y=sin’(1 - x)

e?_x
© y= [ In(1-x*) dx
0
_1-x
@)y tan3x
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Mathematics Specialist Units 3 & 4 Revision Series 15 Differentiation

Calculator Free

2. [10 marks: 1,3, 3, 3]

Find % for each of the following. You do not need to simplify your answer.

(a) y=7

(b) y=tan’(nt *)

£3 1
(© y=_f sin®2x dx +tJ.5 dt
1 0
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Mathematics Specialist Units 3 & 4 Revision Series 15 Differentiation

Calculator Free

3. [8 marks: 1,2, 2,3]
Find —Z—y- for each of the following. You do not need to simplify your answer.

X

(a) y = tan (60°)

(b) y = tan (1 - x)

©y= Tl % cos4(t) dt
0

(d) y=4In (sin 2x)
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Mathematics Specialist Units 3 & 4 Revision Series 15 [;)1@@&{@{!’?{(

Calculator Free

4. [9 marks: 1, 3, 2, 3]

Find —%1 for each of the following. You do not need to simplify your answer.
dx

(@) y=1In e

(5) y=cos’ (3+ )
X

tanx

(© y= t[ e dt

d) y= ¢S cos
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Mathematics Specialist Unils 3 & 4 Revision Series 15 Differentiation

Calculator Free

5. [9 marks: 1,3, 2, 3]

! : |
Find % for each of the following. You do not need to simplify your answer.

@) y=In2"

) y=sin’(1+Inx)

2 )
© y= | tan(L+2) at
0

) y=@0+x) In Jx+1
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Mathematics Specialist Unils 3 & 4 Revision Series 15 Di rentiation

Calculator Free

6. [12 marks: 2,3, 4, 3]

. d ,
Find -Cg— for each of the following. You do not need to simplify your answer-

(a) y=3x

(b) y= etan(l—Zx)

(¢) y = sin*(2x) cos’(1-x)

(d) y= sin (2x)

" Incos (3x)
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Mathematics Specialist Units 3 & 4 Revision Series

15 Differentiation

Calculator Free

7. [10 marks: 1, 3, 3, 3]

Find g—y— for each of the following. You do not need to simplify your answer.

1
@ y= (1+e)
_ In(1+sinx)
®)y=——7

wr

© y= ¢ cosE)

_ sin’(mr)
@ cos(l+x)
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Muthenaites Spreinlial Lnits 3 & 4 Revision Series 15 Differertiation

e e Sy A T S R

Calculator Assumed

8. [10 marks: 3, 4, 3]
Find 5;2 in terms of x, for each of the following,

ax

(2) x= " and y ="

(b) x =cos 20 and y = sin 20

1—f
x=l+tandy= —
(€ x=1+tandy 70

N A . R A
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Mathematics Specialist Units 3 & 4 Revision Series

15 Differentiation

Calculator Assumed

9. [11 marks: 3, 4, 4]

Find ﬂ in terms of x, for each of the following.

X

(@) x=f andy=In(1-1)

(b) x=1+cosB andy=2-sin6

(©) YR Trg ady=1+¢
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Mathematics Specialist l( Qitqi& 4 Revision Series 15 Dif orenpiation

Calculator Assumed

10. [11 marks: 3, 4, 4]

Find iid% in terms of x, for each of the following,

(@) x=¢* andy=in(1+10

(b) x=1-3sin0 and y =3+ 4 cos O

1-2¢ £
and y = .
1+2¢
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